do/dpy" [pb/GeV]

=

MC /Data

O0 OO O KK
[GISNTCNTEREY VIV N

Z+jets, p?al, N,

> 1,5 =13TeV

=

|
"

o

do/dp5™ [pb/GeV]
(o]

=

R R R

MC /Data

o000 0

[VIoNNT TR R SIS

E T T T T ‘ T T ‘ T T T T ‘ T T T T
L —v:] — MG5.aMC+Py8 [MLM] CUETPSM1
r >— MG5.aMC+Pythia8 [MLM] CP2 7]
E —— MG5_aMC+Pythia8 [MLM] CP4 —
E o MG5_aMC+Pythia8 [MLM] CP5 7
r * | —e— CMS Data ]
i g
—_—
& =
e Vo i
= R e -
7\ 1 ‘ 1 1 1 1 ‘ 1 1 ‘ 1 1 \7
[¢] 50 100 150 200

-GU‘
g
Q
=

Z+iets, pi, N > 1, /5 = 13TeV

T

—— MG5_aMC+Pythia8 [FxFx] CP4

T T T T T T T T T T T T
—/— MG5.aMC+Py8 [FxFx] CUETP8M1
—O— MG5_aMC+Pythia8 [FxFx] CP2

MG5_aMC+Pythia8 [FxFx] CP5
CMS Data

[

]

4\\\\1;:[[
i

!
3

(=]



